Workable years and Leibniz Coefficient
(1)For people under 18 years old

(For people over 18 years old)

Infants, kids, students, and people Expert Age|Workable years | Coefficient Age|Workable years Coefficient Age|Workable years Coefficient Age|Workable years Coefficient
Age :{)}:;’lt?‘z;‘;‘we]’l‘lps‘;s:: having work 18 29 18.169| 39 28 14.898| 60 2 8863| 81 7 3546
Workable years Coefficient | Workable years Coefficient 19 48 18.077( 40 27 14.643| 61 11 8.306| 82 4 3.546
20 47 17981 41 26 14375| 62 11 8.306( 83 4 3.546
0 49 7.549 67 19.239 21 46 17.880( 42 25 14.094| 63 10 7722 84 4 3.546
1 49 7927 66 19.201 22 45 17.774( 43 24 13.799| 64 10 7.722| 85 3 2.723
2 49 8.323 65 19.161 23 44 17.663( 44 23 13489 65 10 7.722] 86 3 2723
3 49 8.739 64 19.119 24 43 17.546| 45 22 13.163| 66 9 7.108( 87 3 2.723
4 49 9.176 63 19.075 25 42 17423 46 21 12.821| 67 9 7.108( 88 3 2.723
5 49 9.635 62 19.029 26 41 17.294( 47 20 12462| 68 8 6.463( 89 3 2723
6 49 10.117 61 18.980 27 40 17.159( 48 19 12.085| 69 8 6.463( 90 3 2.723
7 49 10.623 60 18.929 28 39 17017 49 18 11.690| 70 8 6463 91 2 1.859
8 49 11.154 59 18.876 29 38 16.868( 50 17 11274 71 7 5.786( 92 2 1.859
9 49 11.712 58 18.820 30 37 16.711] 51 16 10.838| 72 7 5.786| 93 2 1.859
10 49 12.297 57 18.761 31 36 16.547| 52 15 10.380| 73 7 5.786| 94 2 1.859
11 49 12912 56 18.699 32 35 16374 53 14 9.899| 74 6 5076 95 2 1.859
12 49 13.558 55 18.633 33 34 16.193 54 14 9.899| 75 6 5076 96 2 1.859
13 49 14.236 54 18.565 34 33 16.003| 55 14 9.899| 76 6 5076 97 2 1.859
14 49 14.947 53 18.493 35 32 15803 56 13 9394 77 5 4.329] 98 2 1.859
15 49 15.695 52 18.418 36 31 15593 57 13 9394 78 5 4329 99 2 1.859
16 49 16.480 51 18.339 37 30 15372 58 12 8.863| 79 5 4329 100 2 1.859
17 49 17.304 50 18.256 38 29 15.141 59 12 8.863( 80 5 4.329] 101~ 1 0.952

(Note)

1. Concerning workable years of less than 18 years old experts and more than 18 years old people,
(1) When a person is less than 55 years old, workable years will be 67 minus the person's age.

(2) When a person is 55 years old or more, workable years will be his/her half of life expectancy, which is rounded up.

2. Concerning following people, following (1)-(4) will be applied for the calculation of workable years and Leibniz Coefficient.

+ Infants and kids

+ Students who are less than 18 years old
+ People who are less than 18 years old and have workability and will to work (Except experts, houseworkers and students who are 18 years old or more)

+

(Example) If a victim is three years old
(1) The end of working age is considered to be 67 years old, so 67 minus three is 64. Coefficient corresponding to 64 is 19.119

(2) The start of the job is generally considered to be 18 years old, so 18 minus three is 15. Coefficient corresponding to 15 is 10.380
(3) Workable years: 49 years (64-15)
(41 Coefficient annlied for the warkahle vears: 739 (19.119-10.38M




